
Orientable pole & wall-mounted 
UHF SPECTRE – KFX-UHF-10 
Installation instructions 

 

Fixation orientable mât & murale  
UHF SPECTRE – KFX-UHF-10 
Notice d’installation 

Fijación orientable mástil y mural 
UHF SPECTRE – KFX-UHF-10 
Procedimiento de instalación  
conforme con NOM-024 -SCFI-2013 

 

 

© STid - 20 PA des Pradeaux FR13850 Gréasque - NI1096J02- Page 1 sur 1 - Ed. 02/05/2022 
STid reserves the right to make change without notice, for the purpose of product improvement. 

 

Dimensions  Dimensions  Dimensiones  

 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
M4x12: stainless steel screw 
Metal strap included: Ø 2.79 to 3.74 in 

 M4x12: vis Poelier Inox 
Collier de serrage fourni : Ø 71 à 95 mm 

 M4x12: tornillo de acero inoxidable 
Correa de metal incluida: Ø 2.79 to 3.74 in 

 

Mounting  Montage  Montaje  
 

ANT-UHF2        SPECTRE 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
SPECTRE NANO 

            

           

           

          

           

           

           

           

           

           

           

           

           

            

            

+   

+   
+  4 x    M4x12             

           

           

+   


